* @ W 6 quatro fragdes, ordem das operagoes

Nome: Encontro: Data: Pontuagao:
1
—+24x - +8= Z+28X__7:
LIV SO SV
2 5 2 4 3
1 I 1 2 1
—+36x-+6= -+t -— =X ==
5 4 2 4 3 5
I 1 1 1 2 3
4+ x_—-_= Z s34+ 2=
27376 5 03733
I 3 1 1 1 2
-~ =X =+t == ——=55x=-=11=
5 5 3 6 2 5
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quatro fragdes, ordem das operagoes

Nome

2

5 15
1 53 3
L ix2a3=2 52
> T30 7010
2 1 19 9
R TR
111 1 16
—_ 4+ — — —_ = —
27376 5 %
3111
5 536 6

Encontro: Data:

1 1 19 7

T X —+T=—=1—

e T
301 1 1 1
—_ — e — — X = =
5 2 4.3 6
11 2 1 37
—_F - — - X - = —
274 35 &

3 2 14

6x 373457157133

1 2 3 I
LSS xZall= (D)= (1=
3 P35 (3)=C13)
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